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Mark schemes
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5 Award TWO marks for all three calculations completed
correctly as shown:
5 = 4
12 = |3
5 + 5
Answers to the calculations are not required for the award of the mark.
If the answer is incorrect, award ONE mark for two calculations completed correctly, eg
f = d
12 = a
5 0+ 4
Accept for ONE mark
4,3, (*) OR
4, (*),50R
4, (*),30R
(*). 3,5
where (*) is any number or blank.
Upto2
(2]
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1150R 151 OR 511

OR
133 OR 313 OR 331
U1l
[1]
Award TWO marks for three correct numbers, as shown:
35 42 49 56 63 70
Award ONE mark for two numbers correctly placed.
Upto2m
(2]
845
[1]
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